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General Instructions for Students: tediy$rf L LN

1) Use mask & keep at least 3ft. distance from each other.
I ik E Faf g S ek
2) Read carefully and attempt all questions.
_J’/J’:«Ul}’(a/)lw.‘”{’:./i.l
3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as
shown in the example given below.

e WU B2 L,,*.Pufgu’l:/,_,lﬁg ZJird& w2 43
Example: Which error occurs when the instructions written in a program do not follow the
rules of the programming language?

2t 0/ S st £ s BaSog ehia 8T U oSy e Bt s FF 5 o U
yntax Error u,lu"?}‘( b. Logical Error IS

¢. Runtime Error //J("lfu/ d. Execution Error /4IJ,;§)§
4) Use black/blue ink for writing. Use of lead pencil is not allowed.
e et U £ Jr S S ik e Sl L 4
5) If more than one options are encircled in a question, no mark will be given.
Kb A8 S L ciamlie LIt dirs’fizs

Total Marks: 48 (Multiple Choice Questions) Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each
guestion carries One & Half (1.5) marks.

A 15 L gt s W 80,2 (32) U Ut o izl
1. The minimum number of computers required for a computer network, are:
ce ATl E N Kl LSz 2o
a) Two 5 b) Three
c) Four e d) Five &\

<
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2. Data transmits between two devices in a computer network through:
-‘Lrﬂy éu'd: Qﬁuy»&yﬂgﬁ»ut_ﬂ,q}g{

a) communication device (1955 o b) sending device iyl
c) transmission media g),»j/ I/ d) receiving device  iz5 ki

3. Managing and controlling the network traffic is the responsibility of:

-‘ad;l).ajd/ r@?luldﬁ /Pf (..‘@,/‘J/A.‘aj
a) Switch L b) Client i
c) Server s d) Modem 512

4. Which of the following computer in a network relies on server for resources?
St SN, d ES st Snes Judl ol tditn
a) Supercomputer s e b) Client computer St si
c) Mainframe computer /‘;;{é/'u: d) Workstation computer s

5. Collection of multiple-small networks to make a largest network is called:
< _g_b'll;'( B2l JC)..:«:L;{ :»3'4;]_ LZ_&..J/A.:{‘IZL./

a) LAN b) MAN
c) WAN d) Private WAN
6. Identify the most common security threat from the following.
s FAnE Ll bz e ot p i
a) Worm (. b) Hacker &
C) Virus J A d)
Adware skl

7. The most powerful antivirus to protect computers from different security threats, is:

?‘LVU)( U F lbuL)c_qiLLgl(.LJ . /ﬂ::.(.f
a) AVG b) Nod32
c) Symantec d)
Kaspersky
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8.

a) Worksheet  =£_/s

c) Ribbon s

9.

them in an active cell.

a) Formula bar AU 6

c) Address bar AR

10. In spreadsheet software, the horizontal rows are identified by:

a) Numbers

c) Alphabets s 7
11. Single page in MS-Excel is.called:

sl

a) Worksheet 2
c) Slide pel
12. In a worksheet, columns are arranged:

a) vertically Sasf

c) diagonally iy,

13.

a) Insert Tab e
c) Page Layout Tab _2=sTL &
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Sheet Tabs are located at the bottom of:

..g,[}'f_ngbéé ﬁ}b“.’?
b) Status bar A

d) Formula Bar AUy 6

Name the bar that displays the content of the active cell and the formulae as user types

e b S AL AL 113 8 8 o b S S Uy i £ e A

b) Ribbon bar
d) Status bar

o

/LU’?/
S‘{_b’lgl?fli‘écéﬁ‘f/fu;/@gslufk;&lféfu
b) Symbols =i

d) Pictures il

______ P of ol s MS-Excel
b) Workbook (/s

d) Document o5

el ce s AL E S
b) horizontally Fi
d) circularly JI

In MS-Excel, cell alignment can be done by using:

_‘LGcng w2 Sy YIS (JEMS-Excel

b) Home Tab L
d) Review Tab NPTy




14. Choose the correct option to identify a column in a worksheet.
GIFRIE L Log ot et L
a) Alphabets S b) Numbers i
¢) Alphanumeric S 29 d) Symbols e

15. The default font name in MS-Excel is:
- rtd@,;‘&b’)uﬁ MS-Excel

a) Times New Roman b) Arial
c) Arial Black d) Calibri

16. Currently selected cell in a worksheet is called:

.q_b'llzv( Fns ..3;" nZrUet S

a) Formatted cell e b) Dotted cell s
c) Passive cell o o d) Active cell
o

17. A problem statement should have one of the following feature?
?g.%&nwﬁuggdd}e/ﬂgﬂﬂ(&l/’

a) Clear and Precise &,wuf/,nff is b) Clear and difficult Jf“fmiu
c) Clear and Complex 0 A5 mff s d) Clear and lengthy &mfu

18. The operation on input data by using formula to find the solution of the problem
represents.

?p‘_J/ﬂwaqu Jﬁéfé&f&ulZ:/UWIUY;U&Z:L/JWJ’K&”

k4

a) Input 2o b) Processing Ly

c) Output st d) Storage &

19. In GW-BASIC, which of the following is the shortcut key for LOAD Command?

fe U key e et & £ HUTLOAD « Ut U5 574 ( AGW-BASIC
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a) F1 b) F2
c) F3 d) F4

20. Which operator is used to represent the exponent in BASIC Language?
S bl Uitiel L usinti 2 TUS LG #BASIC
a) + b) -
c)n d) *

21. The named memory locations in the computer’s memory whose value cannot be changed
during program execution, is called:

iy e ' U o £ aTo I ooy f ed § P A0 8 st Gt § 2o

a) Reserved words — Jissisz b) Variables ARy
c) Constants Veat; d) Operators ST

22. Which type of error is very hard to find and correct in the program?
?{_b'ngp'a—qtf:/uull?/(u’lﬁ':(//..léf:.‘jfuirl)’}/,
a) Syntax Error //Jgf:M b) Logical Error £y
24

c) Runtime Error .zt d) Execution Error .../ £51

23. Which error occurs due to wrong use of formula or providing wrong value to a variable?
St Ust Uy UL (7 of e 9 Ja‘_/(n} wd o S SIS J(LJWIW‘CL:OG
a) Syntax Error //Ju’?:{ b) Logical Error sl
¢) Run-Time Error ) d) Execution Error 2%

24. Identify the wrong arithmetic expression written in GW-BASIC.

SIS ;fu..ﬁg‘“’ b A GW-BASIC
a) A=B+5 b) A=B+C
c) A=5+6 d) 5=A+B

25. In which year, the BASIC language was invented at Dartmouth College USA?
Wb LK FALML LTI e
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a) 1966 b) 1965 c) 1964 d) 1963

26. In BASIC language, which of the following is the shortcut key for LIST Command?

_q_JJ-b/U’u)/@U/MUfZ‘;}@..—Q
a) F1 b) F2 c)F3 d) F4

27. Which command is used to move a GW-BASIC file from storage media to memory?

te QeSS Sl LS PP L2 e\ G 18/ s GW-BASIC
a) Save b) Edit ¢) Run d) Load

28. In BASIC language which of the following is the short-cut key for RUN Command?

te 2 et S RUNAE S G
a) F1 b) F2 c) F3 d) F4
29. The result of 35 MOD 3 in GW-BASIC is:

*¥nl/12635MOD 3 % GW-BASIC

a)l b) 2 c)3 d) 4
30. In GW-BASIC, CLS command is used to clear the content from:
e dedUeid L8 SP e Soatf EUCLS UAGW-BASIC
a) Hard Disk b) RAM c) Screen d) ROM

31. The GW-BASIC statement IF-THEN-ELSE is used for:

—edndeid L ¥ [F-THEN-ELSE §GW-BASIC
a) Decision making it Le? b) Planning Shzar®
c) lterating o1 d) Controlling &_/Js &~

32. In BASIC language, which command is used to execute of the program loaded in the
memory?

S Qo1 Lt 11y 39t 35 S SR
a) LIST b) LOAD ¢) RUN d) SAVE
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